ECONOMIC MODEL

The diagram below shows the economic model:
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The model simply gives four factors to consider when looking at a business.  In a perfect world, one seeks high margins, low operating leverage, high volume and low product mix.  Unfortunately such a business is hard to find.

However, if operating leverage is high, it means that one needs reliable volume to cover fixed overheads.  Thus one would look closely at volumes and margins.  Similarly if margins are low, volume becomes more important.  Looking at this another way, if one has low volumes, then margins need to be attractive.  High product mix (flexibility in the form of a job shop) requires decent margins.

Thus when looking at a turnaround situation, I consider all of the variables and plug in a rating (high, medium and low).  Then I consider whether the business is attractive.  Alternatively, I consider whether variables can be changed or are under threat.

Looking at an airline, the high cost of planes makes operating leverage very high.  Product mix is usually low and margins are quite high (fare vs fuel).  However, there is a big question mark over volume.  Fundamentally I am not attracted to airlines as there is a threat to margins in the form of discounted fares.  Volumes are not guaranteed unless one has a monopoly over certain routes.  

